2023 Household size of 1 (caregiver only)

Group number	Income range
1	≤ \$7,290
2	\$7,291 \$14,580
3	\$14,581 \$19,391
4	\$19,392 \$29,160
5	\$29,161 \$43,740
6	≥ \$43,741

Household size of 2 (caregiver and one child or caregiver plus another adult)

Group number	Income range
1	≤ \$9,860
2	\$ 9,861 \$19,720
3	\$19,721 \$26,228
4	\$26,229 \$39,440
5	\$39,441 \$59,160
6	≥ \$59,161

Household size of 3 (caregiver plus 2 children and/or adults)

Group number	Income range
1	≤ \$12,430
2	\$12,431 \$24,860
3	\$24,861 \$33,064
4	\$33,065 \$49,720
5	\$49,721 \$74,580
6	≥ \$74,581

Household size of 4 (caregiver plus 3 children and/or adults)

Group number	Income range
1	≤ \$15,000
2	\$15,001 \$30,000
3	\$30,001 \$39,900
4	\$39,901 \$60,000
5	\$60,001 \$90,000
6	≥ \$90,001

Household size of 5 (caregiver plus 4 children and/or adults)

Group number	Income range
1	≤ \$17,570
2	\$17,571 \$35,140
3	\$35,141 \$46,736
4	\$46,737 \$70,280
5	\$70,281 \$105,420
6	≥ \$105,421

Household size of 6 (caregiver plus 5 children and/or adults)

Group number	Income range
1	≤ \$20,140
2	\$20,141 \$40,280
3	\$40,281 \$53,572
4	\$53,573 \$80,560
5	\$80,561 \$120,840
6	≥ \$120,841

Household size of 7 (caregiver plus 6 children and/or adults)

Group number	Income range
1	≤ \$22,710
2	\$22,711 \$45,420
3	\$45,421 \$60,409
4	\$60,410 \$90,840
5	\$90,841 \$136,260
6	≥ \$136,261

Household size of 8 (caregiver plus 7 children and/or adults)

Group number	Income range
1	≤ \$25,280
2	\$25,281 \$50,560
3	\$50,561 \$67,245
4	\$67,246 \$101,120
5	\$101,121 \$151,680
6	≥ \$151,681

Key:

Group number	Income range
1	≤ 50%
2	51 – 100%
3	101 – 133%
4	134 – 200%
5	201 – 300%
6	> 300%

In Connecticut, Medicaid covers parents with household incomes up to 155% of the federal poverty level. So if a caregiver is on Medicaid, the household income should be in one of the groups 1-4.

Medicaid/CHIP covers pregnant women in CT up to 250% of poverty level. So the household income for a pregnant mom on Medicaid could be in any of the groups 1-5.

Children are covered by CHIP up to 300% poverty level. So the household income for a child on CHIP could be groups 1-5.